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1. |2) Solve the function K=f(wxy,z)= 7 (0,1,4.5.9,11,13,13) using L-zp - o
o ) o ) |l pd jcor] 2
b) Simplify the function F=£(P, Q, R, 5) =2 (0,3 “a 3,6 b, /, 11,1,-,{ ) neing QM mefiod.
2" () Define cacoder Wit et tabl, squations o Py o A S
line priority encoder Rodalids -in L2 g oozl 2
b) Implement the fonction f(w,zy,z)= L(’J 1, _,,6 7,9,12,15) vsing -15-1 line |
multiplezer O - SV i
3. | a) Define decoder. Write the truth tzble, equations zod circost dizgrzo of 3-10-2-
lins decoder (o duded — &M | G0 |coz| =2
b) Explain thz operation of §-10-1 line multiplexer with block diagram truth 125,
equations Doyt - WA ( {
4. |a) Construct parallel binary adder/ subtractor using full zdder Glock and E/OR |
gates. Also explzin the operation of it. == gl | coz| 2
b) Desizgn two- bit comparator using czscza de connection of one oit comparators |
and explain its operation.
5. | Explain different types of PLD’s with example ) [10] co2
6-|With neat diagram and truth table, explain the operztion of S R & JX flip-flop [10] o2 12
7 |With diagram, wave forms & truth table explzin the working of MS-JX flip-flop i10] : C:g; i2
3
Convert following Boolean function into: i) f(abc)= (z” + b) (b +¢ *) Min term ii0] Co1 13
canonical form, ii) f(xyz)= x + x’z’(y + ") Max term canonical form »
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